
B.A/B.Sc. 5th Semester (General) Examination, 2021 (CBCS) 
Subject: Economics 

Paper: DSE 1A 
(Basic Statistics) 

Time: 3 Hours         Full Marks: 60 

The figures in the margin indicate full marks.  

Candidates are required to give their answers in their own words as far as practicable. 

দক্ষিণ প্রান্তস্থ সংখ্যাগুক্ষি প্রশ্নের মান ক্ষনদর্শক। 
পরীিাা্র্শীশ্নদর যর্াসম্ভব ক্ষনশ্নের ভাষায় উত্তর ক্ষদশ্নে হশ্নব।  

 

1. Answer any six of the following questions:    5×6 = 30 

যয যকান ছয়ক্ষি প্রশ্নের উত্তর দাওঃ  

 

(a) Briefly describe the different methods of collecting Primary Data. 

প্রার্ক্ষমক রাক্ষর্ের্য সংগ্রশ্নহর ক্ষবক্ষভন্ন পধক্ষেগুক্ষি সংশ্নিশ্নপ আশ্নিাচনা কর। 

 

(b) Discuss the difference between Complete Enumeration and Sample Survey. 

পূণশ েদন্ত ও নমুনা েদশ্নন্তর মশ্নধয পার্শকযগুক্ষি আশ্নিাচনা কর। 

 

(c) What are the advantages and disadvantages of Mode as a statistical average? 

রাক্ষর্েশ্নর্যর গড় ক্ষহসাশ্নব সংখ্যাগক্ষরষ্ঠ মান এর সুক্ষবধা ও অসুক্ষবধাগুক্ষি ক্ষক ক্ষক? 

 

(d) Draw a Bar Diagram from the number of students in a class in different years: 

নীশ্নচর একক্ষি যেক্ষনর ক্ষবক্ষভন্ন বছশ্নরর ছাত্রসংখ্যা যর্শ্নক একক্ষি স্তম্ভক্ষচত্র অঙ্কন কর।  

Year:  2000 2001 2002 2003 2004 2005 
(বছর) 
No. of student:   85   98  112  130  105  122 
(ছাত্রসংখ্যা) 



(e) Determine Median from the following data: 
     নীশ্নচর রাক্ষর্ের্য যর্শ্নক মধযমার মান ক্ষনণশন কর।  

 

Class Boundaries:  15-25 25-35 35-45 45-55 55-65 65-75  

(যেণী সীমানা) 

Frequency:     4   11   19   14   0   2 
(পক্ষরসংখ্া) 
 
(f) Calculate Mean Deviation about Mean for the following data: 

নীশ্নচর রাক্ষর্ের্যর গাক্ষনক্ষেক গড় যর্শ্নক গড় ক্ষবচুযক্ষে ক্ষনণশয় কর। 

70, 65, 68, 70, 75, 73, 80 

 

(g) Explain the different parts of a table with a suitable diagram.  

উপযুক্ত ছক্ষবর সাহাযয একক্ষি সারণীর ক্ষবক্ষভন্ন অংর্ বযাখ্যা কর।    

 

(h) Calculate Geometric Mean (G.M.) of the following observations: 

নীশ্নচর পযশশ্নবিণগুক্ষির গুশ্নণাত্তর গড় ক্ষনণশয় কর। 

3,  6,  24,  48 

 

2. Answer any three of the following questions:    10×3 = 30 

যেক োন তিনতি প্রকের উত্তর দোও- 

(a) Using the following frequency distribution of the age of a number of persons draw 

two Ogives (more than and less than type) and calculate the median from the graph. 

নীশ্নচর ক্ষকছু মানুশ্নষর বয়শ্নসর পক্ষরসংখ্যা ক্ষবভােন ক্ষনশ্নয় দুই ধরশ্ননর ক্রমশ্নযৌক্ষগক পক্ষরসংখ্যা যরখ্া অঙ্কন 

কর ও ক্ষচত্র যর্শ্নক মধযমার মান ক্ষনণশয় কর। 

Age (Years): 15-19 20-24 25-29 30-34 35-39     40-44     45-49 
বয়স (বছর) 
Frequency:   32   40   44   25   20      11         8 
(পক্ষরসংখ্যা) 
            



(b) Arithematic Mean (A.M.) of the following frequency distribution is 117 lb. Determine 

the value of x. 

নীশ্নচর পক্ষরসংখ্যা ক্ষবভােশ্ননর গাক্ষনক্ষেক গড় হি 117 পাউন্ড। x এর মান ক্ষনণশয় কর।  

Weight (lb): 100 110 120 x+25 140 Total 
ওেন (পাউন্ড)  
Population:  1  4  2   2   1   10 
(যিাকসংখ্যা) 
  

(c) Explain the advantages and disadvantages of Standard Deviation (S.D.) as a measure 

of dispersion. 

ক্ষবসৃ্তক্ষের একক্ষি পক্ষরমাপক ক্ষহসাশ্নব সমযক ক্ষবচুযক্ষের সুক্ষবধা ও অসুক্ষবধাগুক্ষি বযাখ্যা কর। 

 

(d) Draw a Histogram and Frequency polygon of the following data: 
আয়েশ্নিখ্ ও পক্ষরসংখ্যা বহুভুশ্নের মাধযশ্নম ক্ষনশ্নের রাক্ষর্ের্যশ্নক  উপস্থাক্ষি্ে কর।   

 

Income (Rs.)    Frequency 

আয় (িাকা)                     (পক্ষরসংখ্যা) 

501-1000          3 

1001-1500          15 

1501-2000          37 

2001-2500          33 

2501-3000          10 

3001-3500          2 

 

(e) Discuss the relative advantages and disadvantages of different measures of Central 

Tendency. 

যকন্দ্রীয় প্রবণোর ক্ষবক্ষভন্ন পক্ষরমাপগুক্ষির আশ্নপক্ষিক সুক্ষবধা অসুক্ষবধাগুক্ষি আশ্নিাচনা কর।   

 

 



OR 

Paper: DSE 1A  
(Economic History of India) 

 
1. Answer any six questions.                             5 x 6 = 30                                                                     

যযশ্নকান ছয়ক্ষি প্রশ্নের উত্তর দাও৷ 

 
(a)  Why 1921 is marked as the year of great divide in the history of  population 

growth in India? 
ভারশ্নের েনসংখ্যা বৃক্ষির ইক্ষেহাশ্নস 1921 সািশ্নক মহাক্ষবভােশ্ননর বছর বিা হয় যকন? 
 

    (b)  Explain the occupational structure in India during first half of the 20th century. 
         ক্ষবংর্ র্োব্দীর প্রর্মাশ্নধশ ভারশ্নের েীক্ষবকা কাঠাশ্নমা বণশনা কর৷ 

    (c)   Explain briefly the salient features of different land settlements introduced   in    

          British India. 
বৃক্ষির্ ভারশ্নে প্রবক্ষেশে ক্ষবক্ষভন্ন ভূক্ষমবযবস্থার প্রধান ববক্ষর্ষ্ট্যগুক্ষি সংশ্নিশ্নপ ক্ষববৃে কর৷ 

    (d)  Explain the condition of cottage industries in India during British rule.  
বৃক্ষির্ র্াসনকাশ্নি ভারশ্নের কুক্ষির ক্ষর্শ্নের অবস্থা বণশনা কর৷ 
 

    (e) Analyse the nature of trade union movement in India before independence.   
 স্বাধীনো পূবশবেশী ভারশ্নে সংগক্ষঠে েক্ষমক আশ্নদািশ্ননর প্রকৃক্ষে ক্ষবশ্নেষণ কর৷ 

(f) What were the impacts of the First World War upon India’s industrial sector? 
ভারশ্নের ক্ষর্েশ্নিশ্নত্রর উপর প্রর্ম ক্ষবশ্বযুশ্নির কী প্রভাব পশ্নড়ক্ষছি?  
                                                                                                       

(g) What were the basic features of trade policy in colonial India? 

ঔপক্ষনশ্নবক্ষর্ক ভারশ্নের বাক্ষণেযনীক্ষের মূি ববক্ষর্ষ্ট্যগুক্ষি কী ক্ষছি?  
 

(h) How did the nature of public expenditure in British India prohibit 

India’s development?                                                                     



বৃক্ষির্ ভারশ্নে সরকারী বযশ্নয়র ধাাঁচ কীভাশ্নব ভারশ্নের উন্নয়শ্ননর পশ্নর্ অন্তরায় হ’যয় 

দাাঁক্ষড়শ্নয়ক্ষছি? 

2. Answer any three questions.                                    3 x 10 = 30  
   যযশ্নকান ক্ষেনক্ষি প্রশ্নের উত্তর দাও৷ 
 
a) Describe major irrigation initiatives undertaken in British India.        
    বৃক্ষির্ ভারশ্নে গৃহীে যসচবযবস্থা সংক্রান্ত প্রধান প্রধান উশ্নদযাগগুক্ষি বণশনা কর৷ 
 
b) Describe the process of expansion of railways in India before independence. 
     স্বাধীনোপূবশ ভারশ্নে যরিপর্ সম্প্রসারণ প্রক্ষক্রয়া আশ্নিাচনা কর৷ 
 
c)  What were the major constraints to industrial breakthrough in India under British rule? 
      বৃক্ষির্ র্াসনকাশ্নি ভারশ্নে ক্ষর্োয়শ্ননর পশ্নর্ প্রধান অন্তরায়গুক্ষি কী ক্ষছি? 
 
d)  Describe the process of fiscal decentralization in colonial India.                        
     ঔপক্ষনশ্নবক্ষর্ক ভারশ্নে রােস্ব বযবস্থার ক্ষবশ্নকন্দ্রীকরণ প্রক্ষক্রয়া বণশনা কর৷ 
 
e)  Give an account of India’s foreign trade under British rule. 
      বৃক্ষির্ র্াসনকাশ্নি ভারশ্নের ববশ্নদক্ষর্ক বাক্ষণশ্নেযর অবস্থা বণশনা কর৷ 
 
 


